Le&mmg Destmation

1. (B} As, Frame surrounds a Picture. Similarly,
Binding surrounds 2 Book
2, (A As, 2% {6)7= 72 :
Similarly,
2Axf4)p=
3. (D} As, -
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Similarly,
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4. (C) AS;
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9. ({C) Extraday = 1{1593) + 1 (1994) + 1 (1995} +
1 (1996) = 4
Then, Required day = Sunday + 4 © Thu:sday
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10, {D) Magainin — Magazme
Magistrate.,
11.(C} tsttsttsttst
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15.(4) Aman——-—-----—-—> Grandfather
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17.(C) 60 = 3 = (47 - 27)
9=3x(8~5]
27 =3x (20— 11}
18.(B 47 =5 % 7+(5+7)
89=8x9+(8+9)
B3=5x%8%(8+5
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most businesses posséss becausc the
turnover of inventory representis one of
the primary sources of revenue
20km " generation and subséquent earnings for
the company's shareholders /owners.
Day (WMD) is obsérved
= June by the Food and
Ye Organization (FAO)] to
20. (B) . the importance of milk as &
21.{A} Rotate to dockwise from 1 . “yniended to provide
3 2 1 an oppotit g attention to
4°5'6 nnécted with the
: , the National Milk
on

19.[8] ’ 40 km

20 ¥In|

30. (B}

" 20km 20 km

22, (b]

chemical gomposition of corundum is
“plumminiin £5ide ALO,. ‘
The refrgitive indaxis proportionsl to the
soth longer the wavelength
iifre It Tofracts. Red has the longest
syaverngthwe can sec, 80 the red letters
vl apprar more raised up than. any
other colour.Blue/vicict: have the
shostest wavelengths, so the Blue/Violet
coloured letter will appear lower than any
other colour.
The Sri Venkateshwara National Park

3}

ay &1, 2017 is located at Chittoor and Cuddapeh
5D); Kumar will Hok districts in Andhra Pradesh. The total
%g, ot Information area of the park is 353 km™ The park is
Setfiement known for its wateralls including the

fhvestments and | Talalona, Gundalakona and Gunjane.
] 3 .| 36.[0) Chandragupta married to the daghter
i : ge Formula was | of Licchhavis, & rayal influential faanily.
devys s the chief ministers His son and suceessor ‘Samudragopta’

conferdpggs-hetd during i961. The calls himself Lichchavi-deuhitra.

atishgiizonmission oh Educetion was | 37. {C) Algknanda river meets with the
gnopn as the Kotharl commission. - Dhauligangs river at Vishnuprayag, the
It amined and recommended 2 Nandskini river ai Nandprayeg Jthe
graduated formula, which was Pindar river at Kernaprayeg . the
recomnmended by the 1968 policy. Mandakini river at Rudraprayag and
Inventory refers to raw materials, work- finally the Phagirathi river at Devprayag

in-process and finished soods. That are  to form the mainstream, the Ganges.
considered to be the portion of & business | 38. (&) The reservation of 27% governmeni jobs
assets that arve ready or will be ready for for other Backward Classes was declared
sale. Inventory are also represented as for the first tirpe in theyear 1990 by the

one of the most important assets that Vishwanath Pratap Singh government.
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40, (C) The Supreéme Court has special advisory - ‘India. He was the principal of government

jurisdiction in matters which may be. scheool of art end a great artist of modern
specifically referred to it'by the President - Indiza.

of Indin-under Arlicle 143 of the Indian | 51.(A) ATQ, -
Constitution. . {(4m + 10w) x 24 =
41, (D} The reaction of - Calcium carbide reacts :
with water to producing ncetylene gas and
calcium hydrosxide,
CaC, + 2H,0 - CH, + CalOH),
42, (C} The brcak-cven pomt (BEP}in économics, |
| ‘business, and specifically in cost
accounting, is the peoint at which total-
-cost and total-revenue are equal i.e there
. .7 .is no net Joss or gain.
1143, (A) The Puanjab governmerit has decided to|
4 * - collaborate with the United Nations
Office on ‘Drugs and Crime {UNODC) as
part of its efforts to root out the drug.
menace -in the State. The MoU be
signed between the health depariifient, |
the Special TaskForce (STF) ond

+ 4w) x 18

YY) (x+ = *‘*L“**Y[f+y°]
; P 3L R+ 2xy - 2xy)
Y F 3RS - 2xy)

+yt+ 3 {6-6)
fr=113—-30=82
. te

wPul d=3and b= 1
o+ B 38 avbu+t b= 4
Then, o + b =81+ 1= 82
54 (A} Required votes =

6250’0x(100 ~12)% (100~ 52)

' : up.
|44 ) 2

- 100x100 =26400
) 374+32+7 %3
a wweall, fiattened 55.{C) Required average age = ~— 5"
1 of the most ) 2
es ever found. ) 90
tasses, the black hole ’ —2— 45 years
cl 2 .
- 14% of the total 56.(A) ATO,
sgiim hydroxide is an inorganic
IR with the chemical formula of
hyd Mg(OH)2 It is often known
as milfeof magnesia, becanse of its milk-
like mppearance as a suspension. While
magnesivm hydroxide has a low solubility B — C
in water, with a Ksp of 1.5 x 10", it is 4BAC=2xZBDC
large enough that it will partiaily dissolve | - =2%30°=60
to produce ions in the solution and 57.(B) ATQ,
. forming the suspension, 16 8y
50. () Abanindranath Tagore had founded M': [1‘;]
Indian Society of Orental Art in Kolkata N e .
to revive the ancient art traditions of Taking 4% root on both sides
\ R B .
s - 0N /




“2x2ﬂ4'

=¥ 1800

Total 1800100

profit » -r——*——*—‘go
60.(A) ATQ,

A -+ 30

8b2 + '\s_

2 8
2 .1-= i ( =
= 357 65.{A) Required Percenfage 135
= x=24 liters :
58.{D} ATQ,
1
tan A= T = tanSO"
= A=30°

Then, cosec 30° + sec {90°-30°) =
50, (B) Total profit without charity =~ 1y

=% 2000

412 - Aal +(4b=+9c°

or 2b-3b=0 I
: . The length of BC = (¥~ 4}2+(9 ~B)2 =41

2
quired distence = =5 ¥ (20 + 5} .
60 All sides are equal but
63. (B Requircd percentage © E?iii)x 100 ' Length of AC digonal = (9 -0)F+ (2~ 0)2
8 T = Jl6z2=92
=88 : —c
: ° ' Length of BD digonal = JETE (a5 =
. b a .
64.(p) Tatal ntry cg if§;u+ zgti 50+ 10= 135 The digonals arenot equal but sides are equal.
: Hence, it is 8 rhombas ‘
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(50 +10)x100

2 cosec 30°

990% 20

—— C1-cos8_'TF. L
equation = Tosg 4 9
5

68:(C) ATQ,

ber 0 :
~12by*= 0
The length of AB = Jué- D}°+(S —0)2 =41

The length of CD = ’(5 ~0)2 4 (4_9)2 '”‘-J'_
The lpngth of DA = (0,5)2,‘_ (0-4) = Ja1

=_5km'
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Hleo.m). aro,

=29 cm

-- 70.(B) ATQ,

B
DO=2]cm
CO=20cm

then, DC =

Hence, Perimeter of Rhombus = DC x 4
=20x4=116cem 2
Let xbe the cost price

xx 160x 85

J2174202

(Apply Pythagoras theorem}

100
100

| 75.(8) Accordmg to the property of congruent,

{ 72.8) aTQ,

A% (D) ATQ,

CteostA+dan®

S ]
= = £+2+'m=ﬁo'

aren of ABT = area of PQR
Heace, grea of POR = 72 em*
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